Brackets & Factorising

1.	Remove the brackets:

	(a)	2(x + 5)	(b)	a(a + 4b)	(c)	2x(3x – 5y)

2.	Simplify the following:

	(a)	4 + 2(2p – 3q)	(b)	2ab + 4a(3a – 2b)	(c)	5x – (x + 3y)	 

3.	Multiply out the brackets:

	(a)	(x + 3)(x + 2)   (b)	(2y – 3)(y + 4)   (c)   (a – 3)( )   

4.	Factorise the following completely:

	(a)	6a + 3b	(b)	12f + 4g 

	(c)	2p – 8p2	(d)	c2 – d2	

	(e)	4x2 – 25	(f)	8k2 – 18m2

	(g)	a2 + 3a + 2	(h)	w2 + 3w – 10

	(i)	y2 – 10y + 16	(j)	2t2 + 12t – 32

	(k)	3p2 + 8p – 3
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“I'he diagram shows an -shaped metal plate.
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(a) Show that the area, 4 square metres, of the metal plate is given by





